
S11 (mod 2)

blocks defect matrix

2.G : 1 9 47× 7
2 8 27× 5



Block 1: ϕ1,0 ϕ5,0 ϕ7,0 ϕ8,0 ϕ9,0 ϕ10,0 ϕ11,0

11 = χ1,0 1 . . . . . .
12 = χ1,1 1 . . . . . .
441 = χ3,0 . 1 . . . . .
442 = χ3,1 . 1 . . . . .
451 = χ4,0 1 1 . . . . .
452 = χ4,1 1 1 . . . . .

1651 = χ10,0 1 . . 1 . . .
1652 = χ10,1 1 . . 1 . . .
2101 = χ11,0 2 1 . 1 . . .
2102 = χ11,1 2 1 . 1 . . .
2311 = χ12,0 1 1 . . 1 . .
2312 = χ12,1 1 1 . . 1 . .
3301 = χ13,0 . . 1 . 1 . .
3302 = χ13,1 . . 1 . 1 . .
3851 = χ14,0 1 . . . 1 1 .
3852 = χ14,1 1 . . . 1 1 .
4621 = χ15,0 2 1 . . . . 1
4622 = χ15,1 2 1 . . . . 1
5501 = χ16,0 2 . . 1 1 1 .
5502 = χ16,1 2 . . 1 1 1 .
5941 = χ17,0 2 1 . 1 1 1 .
5942 = χ17,1 2 1 . 1 1 1 .
6601 = χ20,0 2 1 . . . 1 1
6602 = χ20,1 2 1 . . . 1 1
6931 = χ21,0 1 . 1 1 1 1 .
6932 = χ21,1 1 . 1 1 1 1 .
8251 = χ22,0 3 1 . 1 . 1 1
8252 = χ22,1 3 1 . 1 . 1 1
9241 = χ23,0 2 1 1 1 2 1 .
9242 = χ23,1 2 1 1 1 2 1 .
9903 = χ25,0 2 1 1 . 1 1 1
9904 = χ25,1 2 1 1 . 1 1 1
11551 = χ27,0 3 1 1 1 1 1 1
11552 = χ27,1 3 1 1 1 1 1 1
15401 = χ30,0 4 1 1 1 2 2 1
15402 = χ30,1 4 1 1 1 2 2 1

1441 = χ34,0 . . 1 . . . .
1442 = χ34,1 . . 1 . . . .
5281 = χ35,0 2 . . 2 . 1 .
5282 = χ35,1 2 . . 2 . 1 .



(Block 1:) ϕ1,0 ϕ5,0 ϕ7,0 ϕ8,0 ϕ9,0 ϕ10,0 ϕ11,0

5601 = χ36,0 . . 1 . . . 1
5602 = χ36,1 . . 1 . . . 1
12323 = χ37+ 4 . . . . 2 2
6721 = χ39,0 4 2 . 1 . . 1
6722 = χ39,1 4 2 . 1 . . 1
17601 = χ40+ 4 . 2 2 4 2 .
31682 = χ48+ 8 4 2 2 4 4 2

ϕ1,0 = 11
ϕ5,0 = 441
ϕ7,0 = 1441
ϕ8,0 = 1641
ϕ9,0 = 1861
ϕ10,0 = 1981
ϕ11,0 = 4161

Block 2: ϕ2,0 ϕ3+ ϕ6,0 ϕ12+ ϕ14,0

101 = χ2,0 1 . . . .
102 = χ2,1 1 . . . .

1101 = χ5,0 1 . 1 . .
1102 = χ5,1 1 . 1 . .
1201 = χ6,0 2 . 1 . .
1202 = χ6,1 2 . 1 . .
2521 = χ7+ 2 1 2 . .
1321 = χ9,0 . 1 1 . .
1322 = χ9,1 . 1 1 . .

11881 = χ18+ 2 . . 1 .
9901 = χ24,0 1 1 1 . 1
9902 = χ24,1 1 1 1 . 1
11001 = χ26,0 2 1 2 . 1
11002 = χ26,1 2 1 2 . 1
12321 = χ28,0 2 2 3 . 1
12322 = χ28,1 2 2 3 . 1
13201 = χ29,0 2 1 1 1 .
13202 = χ29,1 2 1 1 1 .
23101 = χ31,0 3 2 2 1 1
23102 = χ31,1 3 2 2 1 1

321 = χ32+ . 1 . . .
12001 = χ42,0 . 1 . 1 .
12002 = χ42,1 . 1 . 1 .
24641 = χ43+ 4 4 6 . 2
14401 = χ45,0 4 1 2 1 .
14402 = χ45,1 4 1 2 1 .
31681 = χ46+ 4 2 2 1 2

ϕ2,0 = 101
ϕ3+ = 321
ϕ6,0 = 1001
ϕ12+ = 11681
ϕ14,0 = 8481


